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Mr, Joe Tvans

Scoring Formula: LR-W

DIRECTIONS:
Do not open this booklet until you are told to do so. TFor each problem
there are 1isted 5 possible answers, You are to work each problem and deter-
mine which is the correct answer, and indicate your choice by making & heavy
black mark in the corresct place on the separate answer sheet provided. A
sample fellows:
1. If 2x=3, then x equals:
(1) 2/35 (2) 33 (3) &
(h) 3/2; (%) none of these.
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The correct answer for the sample question is "3/2", which is answer (L)
therefore, you should answer this question by maiking a heavy black mark
under space L as indicated above.

If you should change your mind about an answer, be sure to erase completely.
Avoid wild guessing, as wrong answers count against you. Do pot mari more than
one angswer for any guestion. Make no stray marks of any kind cn your answer
sheegt,

When told to do so, open your test booklet to page 2 and begin. When you

have finished one page, go on to the next page. The working time for the

entire test is 80 minutes,



1, If La ~ X = 3a = LX , then X.=
(1) «a; (2) /583 (3) a/53 (h)=a/3; (5) none of these.

2. The number of dimes in X « L half dollars is:

(1) K =103 (2) 5K« 205 (3} K=Lis (L) - s (5) none of these.
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3. Which of the following has a negative root?

#
ot

(1) 2x=12=3 (2) X+v3e=ly (3) 22 o () X
- g = = 5;
(5) 24 =5+ 3
X
L. The product of 3.5 X 103 and 1.8 X 10! is
(1) 5.3x1075 (2) 6,3%107; (3) 6.,3%X10%%; (4) 5.3 x 1014

() 1.8 ¥ 10-1,

5 }@E _ 1s equal to
v 25 w id

(1) 8; (2) 8/9; (3) 2/5; (W) 81y (5) 6.
6, (3% + 2)(Lx « 5) is equal to

(1) 12¥2 = 105 (2) 12%¥° - 23% - 10; (3) 12¢2 + 7X - 103

(L) 12%2 - 7% = 10; (5) none of these

Ts \3/:@ is equal to
(1) 25 (2)%2; (3) -2, (W) Ly (5) 20



8, al+ b”’f}_ is equal to

(a + )™t

(1) (a+1B)2 s (2) 1 3 (3) ab; (L) _ab 3 (5) a+0b
ab ab
(a + b)2

9. Combine:
(=304 = (-3)3 =
(1) =375 (2) =Y (3 37 .22, (W) sk (5) 3l

10. Which of the following is true?
(1) 2%t = DTy (@) a3+l = a7

3
(L) a?’ahﬂamg (5)—@%—-»- = b3
a(

11, x3 + y° factored into real primes is
(1) (x+ 92 22y + 39) 5 (2) (¢ + p)(x2 = 2xy + 3°)
(3) (x+y)(2 =xy + ¥9); (L) (x+ 92+ xy + ¥%)
(5) (x + y)(x? - y2)

12, Divide o3 by x2
©

=

(1) v 3 () w®; (3) x5; () v ; () x

-
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13. If a "solution set" is the set of all mumbers which satisfy a
statement , which is the solution set of 2x + L 167

(1) x>6; (2) x=6; (3) Xx==6; (L) X< 6; (5) nome of these
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16 xb - yh factored into its real prime factors is equal to
(1) Uo? + 3o = % (@) Un? v 32 (i = 32);
(3) U2+ y2)(2x = y)(2x + )5 (L) 162 + ¥3)(x = y)(x + ¥)

(5) can't be factored

a- 1is equal to

53, () W5 () 1, W 148 (5 HY°

= <l
p— \ﬂl

The factors of L/9 + 1/3x = 3x¢/16 are

(1) (3/9 - x/16)(h = 3x); (2) (2/9 =x/L){(2 ~ 3x/k);

(3) (/9 - /161 = x); (b)) (2/3 = x/L)(2/3 + /W)

(5) L/9 - 3x(1/16 + 1)

If the graph of the equation, 5x + Ky = 9, passes through the point
(3, =1) what is the value of K?

(1) 2Ly (2) 16; (3 =63 (L) 65 (85) U

.

A dealer packed 1800 basketballs in 6 barrels and 6 boxes. Later he
packed 2250 basketballs in 9 barrels and 7 boxes. Find the number of
basketballs that a barrel will hold.

(1) 753 (2) 225; (3) 1%0; (L)} 25; (5) none of these
If the symbol [ x| is read "the absolute value of x" and is equal to x

when x is greater than or equal to zero and is equal to =x when x is
less than zero Which of the following is always true?

) |-8l<)sls @ Jarv] = ta-vl 5 ) lb-sles-u
) fri=1-5 - 2} (5) ) +al >\ -

If a piece of cloth Ll inches long will shrink to 42 inches when washed,
to what length in inches will a 33 inch piece of the same c¢loth shrink
after washing?

(1) 28 1/2; (2) 31; (3) 32; (W) 311/25 (5) 30
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On the graph chart which point has coordinates (=5, 1)? WTD 5 v
-5-4-3-2-1.| 12 5
(1) A3 (2) B; (3) ¢; () Dy (5) ¥ Iy
E |
03
r’iF

On the graph chart which point has zero for its crdinate?

(1) Ay (2) By (3) C; () Dy (5) ®

Graph Chart

On the graph chart, if the lines y + Sx + 2l = O and y + x + L =0
were graphed, at which peint weuld they intersect?

(1) a; (2) By {3) Dy (L} E®; (%) F

When S is subtracted from a certain number, N, 1/5 of the rumber remains.
The equation which expresses this relationship ds:

(1) N-5=1/5 (2) i/5N « 5 =0; (3) 58 425 = N; (4)) N~ S = 1/5N

(5) SN =25=1
It V@’= 2.236, the value of 1 + 5 to the nearest hundredth is:
3 - 2%2
(1) =2.25; (2) =2.,35; (3) =2.15; (L) =2.20; (8) ~2.50
If sulfuric acid is chemically pure, how much water must be added to one
quart of acid to make a 10% mixture?
(1) 1 agbey (2) 3 gtse; (3) 5 gtsey (L)} 7 gts.; (5) 9 gts.
If A varies directly as B, and if A = S when B = 3; then the value of

A when I = 15 is:

(1) 25; (2) so; (3) 755 (L) 3/5; (5) 5/3

If we add its square to a certsin number, the sum is 72. Find the mumber.

(1) 93 (2) 6; (3) 36; (L) =9; (5) none of these

A mechanic agreed to work for 12 days at {10 for each day that he worked,
forfeiting 35 for each day that he was idle. At the end of the 12 days
he received $75. How many days had he worked?

(1) 20; (2) 93 (3) 55 () 3; (5) none of these
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If % is positive, which of the following is always less than one?
(1) /x; (2 x5 (3) _x 5 (W) 1+x; (5) 1-x

x + 1 x X

Solve for x when _x 3 4 1
x = 1 x =1

(1) 23 (2) -1; (3) 1; (L) =2; (5) none of these

A mathematical set is a collection of elements which satisfy a specified
condition or conditions and braces {} are used to indicate a set.
Which of the following is the set of all pesitive prime numbers between

one and ten?
(1) {2, 3,L,5, 7,9 ‘20 {2, 3,6,9}; (3) {2,L, 6, 8};
(4) {2, 3, 5, 7}y (5) {3, 5,7, 9}

From the formula A = 1/2 H(B + C), the value of B in terms of A, H, and
C is:

(1) 24 ~HC 3 (2) (28« C)Hy; (3) H 3 (W) HC =24
H Y Y H

(5) H=12a4+C

Combine and Simplify 2 + 5 - 3
6-3x X - 2 L= 2x

W _ =3k 5 (@ __=3 5 3 _3% 5 W 6
B(x - 2) 6(2 - x) 82 = x) 2 = X
(&) _6
X - 2

An acre of wheat yielded 2000 pounds more of straw than of grain. The
weight of the grain was 3/10 of the total weight of grain and straw.
How many 60-pound bushels of grain were produced?

(1) 15003 (2} .1200; {3) 500; (L) 25; (5) none of these
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Find the fraction which equals 1/k when 3 is subtracted from the
numerator, but equals 1/2 when 2 is added to the denominator,

(1) 3/L; (2) 8/5; (3) 2/3; (L) 5/8; (5) none of these

A man has $3000 invested at ¥% and $2000 at (X + 1)%. The annual
interest on the investments totals $220., Find the X rate,

(1) 2%; (2) Lgs (3) 31/2%; (L) 5%; (5) none of these

A farmer sold &0 hogs for $2030. Some whre sold for $30, and the
remainder were sold for $LO each, How many were sold at $30 each?

(1) 37; (2) 19; (3) 295 (h) L2; (5) none of these

The length of service a chair cover will give varies directly as the
strength of the fabric and inversely as the amount of wear it receives,
If one fabric,which is twice as strong as a seccnd fabric and receives
three times as much wear, lasts for lj years, how long will the second
fabric last?

(1) 95 (2) ks (3) 2; (4) 6; (5) none of these

If 64x3 » 8Y3 is divided by LX « 2Y, the quotient will be:
(1) 4x2 - 2v%; (2) Lx? + 2¥8; (3) 1&x2 + 8XY « Ly?;

(L) 16x% = 8XY¥ + L¥°5 (5) none of these






